a5 LYl zralinll 2850 (po ila] faa Jrasnd

ailyla Bl 2811

almahahj.com/ae

s Lba¥l gl gl s jas (46 L) dalod) uslsd) £ oW e g V) dlasd) ol

L3l Jaidl = lanll 6 dpjae lils ¢ a5l LY zeliall & zalis)l 236

T i alile ooy gelaiz¥) Jolsill 28150 bl

dae N d i)

dolxdl ddasd| L jne



https://almanahj.com/ae/pages/search?teacher_name=مدرسة أبو أيوب الأنصاري
https://almanahj.com/ae/416schools1
https://almanahj.com/ae/416schools
https://almanahj.com/ae/416
https://almanahj.com/ae
https://almanahj.com
https://t.me/almanahj_bot
https://almanahj.com/ae/id=22460
https://almanahj.com/ae/id=19411
https://almanahj.com/ae/id=19411
https://almanahj.com/ae/id=19410
https://almanahj.com/ae/id=19410
https://almanahj.com/ae/id=19409
https://almanahj.com/ae/id=19409
https://almanahj.com/ae/id=19408
https://almanahj.com/ae/id=19408
http://www.tcpdf.org

Q Preview Question

BOoES 1 n
Elobusall
Refer to the figure to state the duadll S @hall JAN o aldeYlh
postulate that can be used to show 44l slall of @iy lgaladiu) So A
the following statement is true. daiaa
Plane P contains the points 4, F . DsF g ALl o P sgivall giny
and D.
.
m
Ae Q
2
B
'I’ L
® 4 L L
D C E
Basly daliin) Ao cud J8Y) e alds GG e (ggiual) (ggiag 0o
a

A plane contains at least three noncollinear points.

o sy afie Lags s (iihaii (o

Through any two points, there is exactly one line.

dadh Saaly Al b (9 Legaalis (18 . (Jlasiiona adalis 13

If two lines intersect, then their intersection is exactly one point.

pius B3 b 0 5Ss Lagabilis (b ¢ Ligiuas alalis 13}

If two planes intersect, then their intersection is a line.

0%

No Limit
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Q Preview Question

wolgzll

State the property that justifies the

statement.
f4 4 (-5)=-1
then x +4 + (-5)=x—-1.

)

Multiplication

oA

Subtraction

-

Aadtl)

Division

zaall

addition

0%

EsECT

11 (st ]|

Blal) 58 ) dsaldl) S
o4+ (—=5) = —1 gl 1y
. X+4+(-5)=x-1

No Limit
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Q Preview Question

= B&BZS 1-1  swm| [ NoLmi
8lgluall yolg> o
State the property that justifies the Sylaall 58 AN dsaldl) <)
statement. msz2 =ms3 smzs1 = mz2 o€ )
If mz1 = mz2 and mz1 =mz3 ol
mz2 = mzs3,then mz1 = mz3.
s
.| < ')
Reflexive
A gail)
) el o
Substitution
Jataa o
C
Symmetric
il
d. ¢ (@)
Transitive

0%



Q Preview Question

= B&BZS 1-1  swm| [ NoLmi
Llsil egazo o
Find mz1 if mz2 = 58° and smzsz2 = 58° iy msl 2
m 2 JKL = 145°. .m £ JKL = 145°
J K
2
1 L
= mel=122° O
. mz1 = 35° ®)
c. mz1 = 80° (@)
d. mzs1 = 87° O

0%



Q Preview Question

= B HE | 1-1 [ swmit | [J]| NoLmit
bl gl (i)
26 and 27 form linear pair. If ba lag) (DKL 27 526
ms6 = 3x + 32 and ams6 = 3x + 32 <)y
ms7=5x+12, find mz7 ms7 g cmsL7 =5x+12
/
6
a. ms7 = 83° @)
b. ms7 =17° O
c ms7 = 152° @)
d. mzs7 =97° @)

0%



Q Preview Question

Refer to the figure to identify

a segment skew to ZY.

. TZ
o OV
© WX
“ WU

0%
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Q Preview Question

11 (st ]|

= BsHEC No Limit
Llgill o dBMsI o
Classify the relationship between £7 5245 (u dBal Liia
25 and 27
3714
112 —5715
g |7
Adalia dala)y
a O

Alternate interior

dlaliie 43

Alternate exterior

aalline dald)s

Consecutive interior

Corresponding

0%



Q Preview Question

djlgiall Slasdimally Llgyl

Refer to the diagram below to find

mz4 if mz1 = 100

EsECT

No Limit

11 [soom ]| T

i

OIS 13 mz4 aagl olial JSE Y paall
mz1 =100

O\ \ O\ \
> Creek Road W b3 Jaas 32k
A
fg Wendell Park \" TRt
2A\O \\O
Redding Lane sty 48
\ \ \O

-~ 80°
b 100°
< 180°
¢ 110°

0%



Q Preview Question

= B&sEHCCT 1-1‘III No Limit
psiuall Jro o
Determine the slope of the line, casfieall Jra 2aa
| ||ty |
i
| |
|
- L1
O | X
| |
~—— —>
N | ! P |
| ‘
a 0 O
b -3 @)
c -1 O
¢ 3 O

0%



Q Preview Question

= B HE | 1-1 [ swmit | [J]| NoLmit
pviiiall @slse o

Write an equation in slope-intercept (s auficall ahaflally Jual) dasas dlalaa S|
form for a line containing (3, — 7) 2 dlag (3, — 7) dhadills ja
with slope 2.

a y=—-13x+2 O

b y= 2x—1 O

<«  y=13x+2 @)

d  y=2x-—13 @)

0%



Q, Preview Question

ilsl il

Find the value of y so that e\\ f

a y =40
b y=1
c y =20
d. y =180

(4y + 10)°

0%
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11 s ]| 3

e\\f ol cus y dasd 2a
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Q Preview Question

= B&BZS 1-1  swm| [ NoLmi

Siledl ge aasll o
Determine which lines, if any, are .3.:'313‘54 (Cdag O Claafial) Lfi (XTY
parallel.so that mz1 = m 2£5. .ms1 =m 25 &

* pl @)
b nm @)
c m,l @)
d n,l @)

0%



Q Preview Question

11 (st ]|

= BaEC No Limit
siiiue ol dbdi o @6 Lol o
Construct the segment that Cre Ablcal) Jia3 3l daafiocal) dadadl) ¢ i
represents the distance indicated .AB A C
from C to AB.

AN

| V=z o
C D
c /\ @)
A B
d. 079\ @)

0%



Q Preview Question

= B |1-1 [ swmt | | NoLmit
liiall cyiad o
If point D is the midpoint of BC , . BC —iaiia D adastl) &u'ls"lﬁ’!
classify A ABC. .AABC e
A
: / \ B
D 25
b i
© ORI O
Right
bty galbaia
. (palall (& o
Isosceles
gAY (gilaia o
Equilateral
gAY Calis,
d o)
Scalene

0%



Q Preview Question

= B&BZS 1-1  swm| [ NoLmi

Euliall Lo o

FindmZ2, mZ3. mZL3 ymL2 gl
o K
3 28°
L
M

s m/s2=128°,m/3=29° @)

b mA2=52°,m/3=29° @)

¢« mA2=29°,m/3=52° O

i m/2=28°,m/3=57° @)

0%



Q Preview Question

gzl gl

Find the value of x.

= x=124
b x =40
¢« x=5
d x =20

(5x + 24)°

0%

EsECT

(3x+ 27)°

11 (st ]|

No Limit



Q Preview Question

BOoES 1 n
8yblitall el
In the diagram, congruent. ARST = AXYZ J<&) ga
ARST = AXYZ.Findx,y. JX, Y
Y
(x+21) T
X
4 (2x —14)
S

a. x=7’y=5

b. x=35y=15

C. x=7,y=15-

d. x=35y=5

0%
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Q Preview Question

= B&BZS 1-1  swm| [ NoLmi
Slilia]l gilasy 0
In the diagram XY = ZW, XW = ZY XY = ZW J<al) 2
XW = ZY SLEY (galaiiad (e A Aalesal) sia

Determine which postulate can be Sl cilagiaal) Cpallaia ilial) o
used to prove that the triangles are
congruent according to the

information given.

X Y

w 4
a SAA O
b. ASA O
c SSS @)
d. SAS @)

0%



Q Preview Question

= B&BZS 1-1  swm| [ NoLmi
2 piliedl galay 0
Given: XB bisects / EBW, Z EBW ciai, XB:cilaal
EB = WB. .EB = WB

Name a pair of congruent triangles. AU clilal) e lag) P

= W
X
B
o AEBX = AWXB O
b.  AEBX = ABXW O
¢«  AEBX = AXWB O
d  AEBX = AWBX O

0%



Q Preview Question

= B&BZS 1-1  swm| [ NoLmi
3 oliliell iy o
In the diagram, /C= /Z and AC = XZ y £C= L7 (Ji) b
AC = XZ . What additional lgaladiod (Sas AN d bl daglaall Le
information could be used to prove CAABC = AXYZ ¢ <Ly
that AABC = AXYZ ?
Y
B
Z
X
C
A
a BC = XY @)
b /Y= /A O
<« AB = YZ O
d. LX=/LA O

0%



Q Preview Question

= B HE | 1-1 [ swmit | [J]| NoLmit
Llgill diuliniall Oliliall yolgs> i )
Find the value of variables. LClpital) dasd aa
5 2x+ 3
60° 60°
4y — 3

a x=2y=1 @)

b. X = 5’y =3 O

C. X = 1’y = 4- O

d x=1y=2 @)

0%



Q Preview Question

= BaECT 1-1|m No Limit

O\ gxill o
Identify the type of congruence LalSad) ojlie s jalal) gullail) Jigad g das
transformation shown as a Llyge o dafy) of

reflection, translation, or rotation.

by

ulSas)

’ Reflection O
S8 Laa Ut

b O

None of them

dal)

c @)
Translation
RUYE

d @)

Rotation o

0%



Q Preview Question

= QQES 1-1‘|/—\| No Limit
Name the missing coordinates of Laliall A ggaall clSlaaY) (e
the triangle.
8
v Sz, 8
V(6a, ?)
— -
8
*  5(3a,3b),v(6a,0) O
8
b S(6a,zb),v(6a,0) O
8 8
< S(6a,=b),v(3a,=b) O
3 3
O

d S(Osb) (6 8)
r3 Jv a}3

0%



Q Preview Question

= BEsEC 1-1‘& No Limit
Find the perimeter of the triangle eagall Glial) Jana aa
shown.
19¢cm, 27cm
-+ |
N
|
l
41 cm |300m
= 100.4 cm O
b 117 cm O
< 80cm O
O

d. 125 cm

0%



Q Preview Question

_ =K BT 1-1‘& No Limit
Oliliall yolg> °
Find P . P
(7p—7)°
17
S
T 17
a P =91 O
b P=13 O
C P =168 O
@)

0%



